CSC 115 Assignment #3 Partial Solutions

Solution to Question #1:

when clicked

EF P How many Ka of H2 do you want? §E T RUET S

set h2 ‘to answer

h2 < [i]
CETN Amount of purchase must exceed 0 Kilograms of H2.

EEE
set cost |to h2 * §EEL]

say join IR Al join [] cost

Solution to Question #2:

when clicked

ask and wait

set X1 to answer

ask and wait

set ¥1 | to answer

E M Enter Radiusl: ELDETETLS

sat radiusl | to answer

ask ElGE?H and wait

sat X2 to answer

ask ElGard and wait

sat y2 to answer

ET P Enter Radius2: ENT RUETS

sat radius2 to answer

set distance \tn sgrt | of x1 - 22 * ¥1- x2 + yl- y2 * yl- y2

distance > radiusl 4+ radius2

CEVN Circles do not intersect!

distance — radiusl 4+ radius2

say
EI;E

CEVEN Circles do intersect!!




